N R \/L) g N
T3 WF ZIRHTAEIN







X—6X+8=0 OMIZ?

s T

XDE®IKANT S
Ay

I S NEITARNL £ 7




X—6X+8=0 OMIZ?

s T

XIZ1 #iRANT 5

1 —6X1 +8=3




X—6X+8=0 OMIZ?

s T

XIZ1 2N T 5 01278 5 70 W

1 — 6 X SR = 3




X—6X+8=0 OMIZ?

s T °

XIZT2 iR ANT 5

26X 2 +8=0




X—6X+8=0 OMIZ?

s T °

XIZT2Z2RANT 5 027 % |
2
Gy




X—6X+8=0 OMIZ?

s T

XIZT3 % ANT 5

3-6X3 +8=—1




X—6X+8=0 OMIZ?

s T

XIZ3 2 AANT 5 01278 5 70 W

3 -6 X = — 1




X—6X+8=0 OMIZ?

s T

XIZ4 #{NT 5%

A —6X4 +8=0




X—6X+8=0 OMIZ?

s T

XIZ4 Z2fRNT 5 027 % |
2
oy




X—6X+8=0 OMIZ?

X=2, X=47T7,




